14
15
la
1
18
19
a0
il
a2
23
4
25

1 3l 4.5

s zali gy ghi! Aadacaal) AN JAY) cbily (1) Gala

public class Calculator {

private int c;

private int Ec;

private int Fy;

private int DL;

private int LL;

private int x,v, length;
private int h,d, b;
private double As;

private final double Es = 200000;

% public caleulator|)

1
phi
29
i
il
i
3
4
it
ia
i
i
3
4
i

¢ = Integer. parselnt (AnasProjectView, cFicld.getText());

Ec = Integer.parselnt(AnasProjectView.
Fy = Integer. parselnt (AnasProjectView,
DL = Integer.parselnt(AnasProjectView,
LL = Integer.parselnt|AnasProjectView,

eField.getText());
fField.getText();
dlF1eld.getText());

11F1eld.getText () ) ;

¥ = Integer. parselnt (AnasProjectView, xFicld.getText());

7 = Integer. parselnt (AnasProjectView. yField.getText () );

length = Integet. parselnt |knasProjectView, lengthField, getText());

h = Integer. parselnt (AnasProjectView, hFicld.getText());

d = Integer.parselnt(AnasProjectView.dField.getText());

b = Integet,parselnt (AnasProjectViev.bFisld.getText());

i3 = Double. parselouble|AnasProjectView, AsField. getText () ) ;
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i P Jedl el de el ppdl ol
4

W) doptionPane. showdessagelialoginull,”  Jshd ! o v el piadl ule [1)');

&

b itw=ll+LL

0 doble Bt =wt lengch * length [ B;

B | doble M= DL ¥ Length * Length /8;

B doble Bl =LL ¥ lengeh * length /8;

0| J0ptionPens, showdessagelialogimull," (Total moment) Mo (MLm= " 4 Mo+ "\n/Permanenc moment) Hd (L) = "+
il fd +" \n[Live load moment) N1 (Bm) ="+ KL);

5
5 Fb ) [T b phin | guadl pund i) ol
5
5 JOptionPane.shom‘»fessageﬂialog[null,”gJ_L‘ beld (L b bt | ! pad i) ol [1]");
5

9 doble I= bt Machopowld, 3) / 12

B doble rbl= (Mt * Nah.pow(10, §)) / [Ec * Nath.pow(10, 3)* I);

% | J0ptionPens, showlessagelialogfmull,"Short term curvature (Un-crack) Total load [1/thl ="+ rhi);
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£l

&l A el | g ghi | il ol

&

&3 J0ptionPane. showileasagelialoginull,” A el i by | guad! pad i) ol [3] 1)

B4

b3 JOptionPane, showiessageDialog(mull,” Jelel ! o ploidl o pilaald plind iphaldl ol A);

&t

£ double x1 = Double. parseDouble (I0ptionPane. showInputDialog(null, "(B/2) = (x1) = (B/4) Lbud! jwd! gdus gl "))

& dowble fet = (h-xd) # L0 /(d-xl) * L0

&9 dowble £3 = (Bt 7 Math.pow(10, &) - L.O/3.0*h*h*fet * [ h-xl) * 1.0)/(As * (d - x1/3.0));

10 double feal = (w1 ¥ Ec * f3 * Mach.pow(10, 3)) / ((d-x1 ) * I3 % 1.0);

! double fea2 = (fs * ks + 0.8t D (n- 1) *fet)/ (0.5 T htxl);

1

7

14 double x2 = Double. parseDouble (J0ptionPane, shovInputDialogimull, "(1/2) = (x2) = (B/4)40.10 lead! jumadl gt gl "))
73 fet = (h-x2) *L0/(d-x2) *LD;

T8 fz = (Ut * Nachopow(10, §) - LO/3.0t bt ot fot * (h-x2) * LO)/ (st (d - 22/3.0));

7 dowble fcbl = (x2 * Ec *f3 * Nath.pow(10, 3)) / ((d-x2 ) *E= * 1.0);

7 double fcbl = (f3 # A3 + 0.5 %0t (h-x2) *fer)/ (0.5 b *Ful);

it

il

il double x3 = Double. parseDouble (J0ptionPane, shovInputDialoginull, "(10/2) = (x3) = (B/4)40.4h olaad ! jusedl g gl "))
82 fer = (n-w3) FLO/(d- 3 FLO;

i3 fa = (Mo f Mathopow(i0, &) - L.0/3.0 %Dt 0t for * (D-x3) FLO)/(As t (d-x3/3.0));

8l dowble focl = [x3 T Ec t £3 f Nachopow(10, 3)) / ((d-x3 ) * I3 * 1.0);

83 dowble fee = (f3 P A3 4+ 0570t (h-x3) FEcr)/ (057D Tal);

B
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81|  JOptionPane.showdlessagelialoginull,"1- fral =" + feal 4 "\nfeal © "+ feal);
8|  J0ptionPane. showilessagelialog(mull,"2- febi =" 4 febl + "\nfeb? ¢ "+ fcb);
8 J0ptionPane. showlessageDzalog(mull,"3- fecl =" 4 foed + "\nfecl + " 4 fecd)s
0| I0ptionPane. showilessageDialog|

0 mully e\ el oty fo e gl
£ . - P .

L + [y adplend! Lo jh iln..:ll.-d'i_ll "\]l”.:._JL' p | LAJ J iy );

%

| double fe = Double. parseDoublz(d0ptionPane, showInputDialoginull, "Encer o))
% | double x = Double. parselouble(I0ptionPane, showInputDialog(null, "Tnter w:"));
%
9| dowble b2 = fo /(x * Ic * Math.pow(10, 3);

® | J0ptionPane. showlessageDialog(null, "Short tern curvature (crack) Total load (1'th] =" 4 £b2);
iy
100 P A ) gl pad i)
101
102 |  J0ptionPane, showdlessagelialog(mull,” AU Jaal) i) pad il ) b (4]
103
104 | double B = Double. parseDouble(J0pt ionPane, showInputDialog(null, "Enter § "))

105 dowle dalta = B * length * length * b2 * Math.pow(i0, €);

108 | JOptionPane.showdessagelialogimull, "Short term Deflection Total load () = " + dalta);
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1
108
109
L0
1l
L
113
L1
L1§
118
17
118
119
L
Ll
122
123
124
125
126
17
L8
128

J0pt ionPane. showfessagelialoginull,"size & (1)),

[= Dt Math.pow(d, 3) / 12;
double th3 = (M * Math.pow(i0, €)) / |Ec * Math.pow(10, 3)* 1);
J0pt ionPane, showllessagelialog(null, "Short tern curvature (Tn-crack| Permanent | load (1/¢h| =" 4 thi);

J0ptionPane, showllessageDialog(mull, " i hiafl) ")

fet = (h-xl) * L0 /d-f) * L0

fa = (Hd * Math.pow(1D, &) - LO/3.0 D ®htfet ® (h-xd) tLO)/ (ks 7 (d - x1/3.0));
fral= (x1 *Bc *f5 f Nath.pow(10, 3)) / ((d-wl ) T L3 ¥ 1.0);

fral = (fst s +0.5%0 % (h-xl) *dct)/ (0.5%D0*xl);
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130

131 for = (h-x2) % 1.0 /(d - x2) * 1.0;

132 fg = (Md * Math.pow(10, &) - 1.0/3.0 * b * h * fet * | h - x2) * 1.0)/ (ks * (d - x2/3.0));:
133 fchl = (x2 * Ec * £3 * Math.pow(10, 3)) / ((d - x2 ) * Es * 1.0);

134 fchl = (f2 * ks + 0.5 % b * (h-x2) * fet)/ (0.5 * Db * x2);

135

138

137

138 fet = (h-x3) * 1.0 /(d - ¥3) * 1.0

134 fz = (Md * Nath.pow(10, &) - 1.0/3.0 * b * h * fer * | h - x3) * 1.0)/ (ks * (d - x3/3.0)):
140 feel = (x3 * Ec * 3 * Math.pow(10, 3)) / ((d - %3 ) * Es * 1.0);

141 feel = (f2 * ks + 0.5 % b % (h-x3) % fet)/ (0.5 F Dbt xd);

142

143 JOptionPane.showlessagelialog(null, "1- foal =" + feal + "\nfcal @ " + feal);

144 JOptionPane. showMessagelialog(null, "2- fchi =" + fcbl + "\nfchl @ " + fecbl);

145 JOptionPane.showlessagelialog(null, "3- fool =" + feel + "\nfeccl @ "+ fecl);

146 JOptionPane.showiessagelialog(null, :akg=la"™\n 2¥oledl oo ¥ g fo dacd lef Jpaedl pis \n"
147 + bty Qylaadl Liggh pluataly "\N" 2001 midl e Jgandy )2

148

149 fc = Double. parseDouble(J0ptionPane, showInputDialog(null, "Enter foi'));

150 ¥ = Double.parselouble(JOptionPane. showInputDialoginull, "Enter w: "))

151

152 double rh4 = fo /(x * Ec * Math.pow(10, 3)):

153 JOptionPane. showlessagelialog(null, "Short term curvature (crack) Permanent  load (1/th) =" + rbh4);
154
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155
156
157
158
159
160
lgl
162
163
164
165
166
187
i
169
110
11
172
173
174
115
178
mn
178

J0pt ionPane. showdlessageDialog(null, "ol 1 Juald | ghils pais | guad! Josb wdid! las [6] "):
fet = (h-x3) *O.55/(d-x3) 7LD

double Eth = (2*2%0*1.0)/ (2% (b+h) #1.0);

JOptionPane, showdessageDialog(null, "che =ffective seccion chickness: " + Ith);

double phy = Double, parseDouble (J0pt ionPane, showInputlialog|mll, "Enzer ©:7));

double E=ff =(26)/ {14phy) ;

J0pt ionPane, showilessageDialog(null, "Eeff: " + Eeff);

fot = (h-xd) * 055 /(d-x3) *L.0;

fa = (Wd * Math.pow(10, &) - 1.0/3.0 # b tatfet # [ h-x3) * L.0)/(hs * (d - x1/3.0)];
fral = (x3 * Ec * £3 * Wach.pow(10, 3)) / ((d -3 ) * I3 * 1.0);

fral = (fs * 13 +0.5% b * (h-x3) *fet)/ (0.5 F D *xd);

double x4 = Doble. parseDouble(J0ptionPane. showlnputDialog(null, "(0/2) = (x4) = (0/9)40.950 Liead | peedl el ")
fot = (h-uxd) * 055 /(d- xd) *L.0;

fa = (Wd * Math.pow(10, &) - 1.0/3.0 * b tatfet # [ h- x4 * 1.0)/(hs * (d - x4/3.0)];

febl = (x4 * Bc ® f3 ¢ Math.pow(10, 3)) / ((d- x4 ) * Es * 1.0;

fch = (fs # 03 +0.5% b * (h-x4) *fet)/ (0.5 D * xd);
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179

180 double x5 = Double. parseDouble (JOptionPane, showInputDialognull, "(x5) =(h/2) |obled! jamall gt ")
181 fer = (h- x5) * 0,55 /(d - x5) * 1.0;

182 fs = (Md * Math.pow(10, &) - 1.0/3.0* bt h#® fet * ( h-x5) *1.0)/(As * (d - x5/3.0));

183 feel = (x5 * Ec * f3 * Math.pow(10, 3)) / (({d - x5 | * Es * 1.0;

184 fec2 = (f3*h3 +0.5% 0% (b-x5) *fct)/ (057D % x5);

185

186 JOptionPane. showlessageDialoginull,"1- feal =" + fcal + "\nfcal @ " + fcal);

187 JOptionPane. showdessageDialoginull,"2- febl =" + febl + "\nfchbl @ " + fcbl);

188 JOptionPane. showilessagelialoginull,"3- feel =" + feel + "\nfec? @ "+ focl);

189 JOptionPane. showlessagelialog(null, :dbpelo™\n c¥sleadl Joo wy o dd Lo Jpuedl pis \n"

190 + Lty dgled! b plastols "\ L0V il (de Jpandy )

191

192 fc = Double.parselouble(JOptionPane. showInputDialog(null, "Enter foi"));

193 ¥ = Double.parselouble (J0ptionPane. showInputDialog(null, "Enter x:"));

194

195 double ths = fo /(x * Eeff * NMath.pow(10, 3));

1% J0ptionPane. showMeasageDialog{null,"Long  term curvature (crack) Permanent  load (1/rh) =" + rb5);

197
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198
199
200
a0l
I
a0
04
205
208
a0
208
a8
20
2l
a2
23
4
i
28
a7
218
a8
220
2l
a8
223
224
a5
226
2t
228

JOptionPane.shomessageﬂialog[null,”@L-.UI- 0 i)l ol [771)

U

dowble alphae = (E3)/(Eeff * Math.pow(10, 3));

1
r

double T = ((b% x @ ® oy /12)4(0 * x * 0.5 * 0.5% )+(alphae * A3 & (d - w)*(d - ¥));

JOptionPane. showdessagelialog(null,"Is: " + 13);
dowble 53 = As * (d - ¥);

dounle res = (ibselon * alphae *33 )/1s;

JOptionPane. showdessagelialog(null, "Shrinkage curvature (1) res)

double thfinal = tbl - th3 + thS + teg ;

JOptionPane. showdessagelialog(null, "long term curvature (Total |

dalta = B * length * length * rhfinal * Math.pow{l0, £];
JOptionPane. showdessagelialog(null, "Total Long Term Deflection

dowble ibselon = Double. parseDouble(J0ptionPane, shovInputDialog(null, "Enter ")) ;

= " +rcs);

(1/th] =" + thiinal);

[ ="+ dalta);
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Bl zaliy skl (T-Section) ahalall cid Aadll JALY) cilily (@) Gale

14 public class Caculator? {

15

la private int c;

17 private int Ec;

18 private int fy;

19 private int DL;

20 private int LL;

il private int ¥y, length;

22 private int h,d, b,B,D,dc;

23 private double Ast , Ash;

24

25 private final double Es = 200000;

2

21 public Caculater? (|1

phi

2 pcad | 0 il sl
30 ¢ = Integet.parselnt (Ceedal. cFaeld.getText());

il Ec = Integer.parseInt(Ceedal. eField.getText());

32 Fy = Integer.parseInt(Ceedal. fField.getTexnt());

33 L = Integer.parseInt(Ceedal.dlF1eld. getText());

kL LL = Integer.parseInt(Ceedal.11F1eld. getText());

35 ¥ = Integet.parselnt (Ceedal.iField.getText());

38 7 = Integet. parselnt (Ceedal. VField.getText());

3 length = Integer.parselnt (Ceedal. lengthField, getText());
3B I = Integet.parselnt (Ceedal.DField.getText());

39 I = Integet.parselnt (Ceedal.DField.getText());

40 d = Integet.parselnt (Ceedal.drield.getText());

il B = Integet.parselnt (Ceedal.BRicld.getText());

42 b = Integer.parselnt (Ceedal.BField. getText());

43 st = Double. parselouble(Ceedal, 2stFicld.getTexnt ()| ;
44 ish = Double. parselouble|Ceedal, AsbFicld.getTexnt ()| ;
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45

4
4
48
50
il
5
33
54
35
5e
5
i
59
a0
al
a2
a3
4
a3
a8
a7
a8
L
10
n
1

JOptionPane, showlessagelialog(null, " Jeb! duiie i il | gt ol [1):

double w = DL + LL;

double Mt = w * length * length / B;

double wd = DL + (0,23 * LL);

double Md = wd * length * lengch /8;

double M1 = LL * length * length /B;

J0ptionPans, showlessagelialog(null, " (Tocal moment) Mo (ATm) = " 4+ Mt + "\n(Permansnt momenc)  Md (FLw) = "
+ Hd + "\n(Live load moment) M1 (ALm) =" + H1);

JOptionPane.shomessageﬂialog[null,”E,J_u Jox [ giiTe pb ophin ) guedl puad 8000 oles [2]7)5
double A1 =b * [D - b);

double A2 = (B * 1) ;

dowble 71 = (D - h)/2 ;

double Y2 =D - (0.5 * h);

double At = (B * h)+|({D-h)* b);

double Te = ((AL * Ti)+({A2 * 72))/ At ;

J0ptionPane, showlessagelialog(null, "Tc = " + Yo |;

double I = Double.parseDouble(J0ptionPane.showInputDialoginull, "Enter (monet of insrtiz |1 ="});
double bl = (Mt * Math.pow(10, €)) / (Ec * Nath.pow(10, 3)% I);
J0ptionPane, showlessagelialog(null, "Short term curvature (Un-crack) Total Load (1/th) =" + tbi);
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3
14
13
8
T
8
8
il
il
gl
£3
B4
£3
il
g7
it
gg
el
g
g2
g3
84
g5
g
g
et
L
100
101

i e | J.“.Z.‘.} I“i‘.‘.“ I guad] L] \JJL_-‘_-_I' ulus

I0ptionPane. shovMessagelialog(null,” 101 [anll [ Giiie phio | guadl pod pedidl olue [3]7);

double alphas = (E3)/(Ec * Math.pow(id, 3));

i ! . Joded 1 ppruy plodidl 4 pusiu L dgbaidl 2le ")
JOptionPane. showiessagelialog(null, " Joled! an pliill SER I oA

adidl gyt wileall jpeadl didey lmpa ga e i N S - T R I R e Y

+

J0ptionPane, showiessagelialog(null,” fsc¢ = alphas * (v - do) /[ ¥")

J0ptionPane. showiessagelialog(null,” fst = alphas * (d- %) [/ » ") ;

JOptionPans. showMessageDialog(null,” = Cof =0.5%fc™#8  Ziilead) o Cof Lust');

JOptionPans, showessagelialog(mull,” Caf =(alphas® fofksh® (x-ch)) /¢ olaad! o 05 sl” )5
JOptionPans. showMessageDialog(null, " (Tsf = (alphas *fc *hst *(d-x Lilwad) o Taf sl ")y
JOptionPans, showMessageDialog(mull, "fot = (D - x) © 1.0 /(d - ) * 1.0 ddoleedl (o fot cast )
JOptionPans. showMessageDialog(null,” (Tefl =0.5%fet®h® (D-K) "2/ (d-x Lilead) o Tefl sl”);
JOptionPans, showMessageDialog(mull,” (Tefl =0.5%ct™(B - L) *(D-X)"2/ (d-x Lilead! o Teflows"];
JOptionPans, showMessageDialog(mull, "Lrl = 2%/3 o Cef e piedl Al

JOptionPans, showMessageDialog(null, " (Csf Lel =(u-th e pjedl glyd s l");

JOptionPans. showMessageDialog(mull," (Lrd = (d-x o Taf o pjadl Al

JOptionPans, showMessageDialog(mull, "Lrd =27 (D-x)/3 o Tefl e pind) gl aunl");
JOptionPans. showMessageDialog(mull, "Le3=2% (h-x) /3 o Tofl i pied) gl ")

JOptionPane, showiessagelialog(null, "N = CeffLrl \n M2 = CaffLel \n M3 = Tsf*Lrd \n M4 = TefifLred \n M5 = Teflflrs ");

J0ptionPane, showiessagelialog(null, Cof + Csf - Taf - Tefl - Tofl = 0 oled) [Mn "

+ M= N+ M2+ HI o+ MG+ M sl C—?"\ll" p gt gl Lhaldly iy leadly L__'-: BN
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102
103
104
105
108
107
108
108
110
111
112
113
114
115
118
117
118
118
120
121
122
123
124
123
126
127
128

double fo = Double.parselouble|d0ptionPane. showInputDialoginull, "Enter foi));
double ¥ = Double.parseDouble(JOptionPans. showInputDialog(null, "Enter w:"));

double rh2 = fo /(x * Ec * Math.pow(10, 3)):
JOptionPane. showiessagelialog(null, "Short term curvature (erack) Total load (1/thl =" + thl];

J0pt ionPane. showflassageDialoglnull," L) Loald gl pnd Gl w0l oles [4]");
dowble B = Double. parseDouble (JOptionPane. showInputDialog(null, "Enter [ :"));

double dalta = B * length * length * tbh2 * Math.pow(10, €);
JOptionPane. showiessagelialog(null, "Short term Deflection Total load (5] = " + dalta);

JOptionPane, showiessagelialog(null, " o8 ol Jusdd gl pad wedill olas [3]");

ICptionPane, showilessagelialoginull, "pite (ot ghia(1]");
double rh3 = (Md * Math.pow(10, &)) / (Ec * Math.pow(1D, 3)* 1);
J0ptionPane. showMessagelialog(null, "Short term curvature (Un-crack) Permanent | load (1/th) =" + rh3);
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129 F AL phio(l
130
131 JOptionPane. showMesaagelialog(null, " i geie(2) ")
132
133 dCptionPane., showlleasageDialog(mull, Cof + Csf - Taf - Tefl - Tefl = 0 Zluled) Mo "

134 U ER VD RNt ) CRFIHE TR U SWrues g Ln.-'u‘j Lyladly Lol = )5
135
13 fe = Double, parselouble(I0ptionPane, shovInputDialog(mull, "Inter fo:"));
137 1 = Dowhle. parseDouble|J0ptionPane. showTnputDislog(null, "Ent=r "))
138
130 downle thd = fo /(x * Ec * Math.pow(10, 3));

14 dCptionPane, showileasageDialog(mull, "Short term curvature (crackl Permansnt  load (1/th) =" + rhd);
141
142
143 F el sl
144
145 dCptionPane, showlleasageDialog(mull, " 101 Lol | jiiis ot ) geadl fogb pdid) ol [E] ")
143
147 JOptionPane, showlessageDialogimull,” Jolal ares pLiill 4 puidanld 5 Lond Sgkadl 0l A7)
143
148 ICptionPane, showlleasagelialogimull,” fot = (b= w3) * 055 /(d - ¥3) * 1.0") 3
150 double effectivedeea = 2%(b*0)+((B-b) *h);

151 double exposedPerimeter = B+ (B - Di+(2%h)4h ;

152 double Ith = effectivedreat1.0 / exposedPerimecer * 1.0;

153 dCptionPane, showlleasagelialog(mull, "the =ffective section thickness: " + Ith);
154 double phy = Dowble, parseDouble(J0ptionPane, showInputDialoginull, "Tncer 22,
155 double Eeff =(28)/ (1phy) ;

152 d0ptionPane, showlleasageDialog(null, "E=f: " 4 Reff);
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157
158
158
1a0
lel
leZ
163
led
1e5
leg
1e7
168
168
170
1n
172
173
174
175
178
m
178
178
180
181
182
183

alphae = (E3)/(Eeff * Math.pow(10, 3));

JOptionPane, showMessagelialoginull, "= Ccfl = fo*B* (x-100) /% doleed! jo Cofll cusi");

JOptionPane, showMessagelialoginull, "Cefl = 0,5010" 3£ By Lloleadl (o Cofl | st );

JOptionPane, showMessagelialoginull, "Cefs = 0.5%Fe™h® (x-h) "2 /v Lsleadt o Cef3 wst1);
JOptionPane, showMessagelialoginull, " Csf =(alphac® fothsh* (x-db))/x Lileadt (o 05F casl" );
JOptionPane, showMessagelialoginull, " ((Tsf = (alphas *fc *Ast *(d-x lileedl o TS sl ")
JOptionPane, showMessagelialoginull, "fct = (D - x| * 1.0 /(d - x) * 1.0 dsledl o fot st )5
JOptionPane, showMessagelialoginull,” (Tef =0.5%fet*(B - b)*0.5¢(D-K) "2/ (d-x dsleadl o Tef cusl);

JOptionPane, showMessagelialoginull, " (Lrl = [x - 50 o Cefl iie pisd) gl d el
JOptionPane, showMessagelialoginull, " (Lr2 =(x) - (B/3 w Cofl Lis pjadl glyd cusl");
JOptionPane. showilessagelialoginull, "Lrd =2 (x - h)/3 w Cofd i ppndt 5150 cusl");
JOptionPane. showiessagelialoginull,"(Lrd =(x - db o C8f wie pjadl ¢1)0 wusl");
JOptionPane. showilessagelialoginull, "=d - 1 ) Lr8) e Tsf e gl 150 wsl");
JOptionPane. showilessagelialoginull," D - x]/3 = Lrf)*l g Tef e ppndl 150 wel");
JOptionPane. showlessagelialoginull, "1 = CefltLel \n M2 = Cofl#lel \n M3 = Cef3fLrd \n"

+ " M4 = Csf*lrd \n M5 = Tsf*Lr5 \n ME = Tefrlré");
JOptionPane. showlessagelialoginull, Cofl + Cefl + Cofd + Caf - Tef - Tef =0 idolwdl "\n"

L

toNEEHLHID 4N EE 4 NS 4 ME Lol g "N i e gl Wadly Hglaadly Lol g )

&

fc = Double. parseDouble(J0ptionPans. showInputDialog(null, "Enter foi'));
¥ = Double. parseDouble(J0ptionPane, showInputDialog(null, "Enter w:"));

double thS = fo /(x * Eeff * Math.pow(10, 3));
JOptionPane. showdessagelialoginull, "Long  term curvature (crack) Permanent load (1/rh) =" + rhi);
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184
185
188
187
148
188
1490
191
192
193
194
185
1%
197
198
198
200
20l
202
203
204
205
208
207
208
208
210
il
212
i13

JOptionPane. showdlessagelialog(null, "oty | (o wadidl Ll [7] 1)
alphas = (E3)/(Eeff * Math.pow(iD, 3));
doublz Is = (B * b * ((/2)410)) *((R/2)420)4(B * [{n * b * h)/12))+
(b * Nath.pew(10, 3))/3 + (alphae*hsh®(h-35)% (h-35)) +{alphaethst®{d-b-10) 7 (d-h-10));
JOptionPane. showlessagelialog(null, "1s: " + Is);
double 53 = (Ash*(h-35))+(Ast *{d-b-10));

double ibselon = Double. parseDouble(JOptionPane. showInputDialog(null, "Enter e:"));
double rcg = (ibselon * alphae *33 )/Is;
I0ptionPane. showilessagelialog(null, "Shrinkage curvature (1) rea) = " + res);

double rbfinal = rbZ - rb3 4 rhl + res ;
J0ptionPane. showilessagelialog(null, "Long term curvature (Total | [1/thl =" + rhfinal);

dalta = B * length * length * rhiinal * Nath.pow{il, &);
JOptionPane. showilessagelialog(null, "Total Long Term Deflection
}

o
n

"+ dalta);
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SAFE geabi s (8 Adll JAay) ciliy (z) gale

[ 324 New Mode! Initializatio | S
Design Data
Design Code |BS 8110-1997 v
Design Preferences [ Modify/Show... ]
Project Information [ Modify Show... ]
Units {Currently Metric) [ Madify//Show... |
Initial Model
L O
LA
1 1 [
Blank Flat Slab Flat Slab Two Way Slab Bage Mat
Perimeter
Beams

i o=

Grid Onby Waffle Slab Ribbed Slab Single Footing Combined
Footing

ale Jaall el daa #3903 5l (1.2.4.5) 3384
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PO .. - W)

File
Quick Units I
Units
tem Units Units Label Decimal Min. Sig. Zero Always Use iI
Places Figures Tolerance E Format
Structure Dimensions
Coordinates KN, m,C m 5 2 1.0000E-20 Mo
Abgsolute Distance KN, m,C m 5 2 1.0000E-20 Mo
Relative Distance 4 2 1.0000E-20 Mo
Angles 3 2 1.0000E-20 Mo
Section Dimensions
Length KN, m, C m 6 2 1.0000E-20 Mo
Area KN, m, C m2 6 2 1.0000E-20 Mo
Length4 KN, m, C md 6 2 1.0000E-20 Mo
Rebar Area KN, m,C m2 ] 2 1.0000E-20 Mo
Rebar Area/Length KN, m, C masm [ 2 1.0000E-20 Mo
Displacemenis
Translational Displ KN, m,C m 6 2 1.0000E-20 Mo
Rotational Displ 6 2 1.0000E-20 Mo
Forces
Force KN, m, C kN 3 2 1.0000E-20 Mo
Force/Length KN, m, C kMsm 2 2 1.0000E-20 Mo
Force/Area KN, m, C kN/m2 2 2 1.0000E-20 Mo
Moment KN, m, C keM-m 4 2 1.0000E-20 Mo
Moment /Length KN, m, C leN-m/m 4 2 1.0000E-20 Mo
Temperature Change KN, m,C C 3 2 1.0000E-20 Mo
Stresses
Stress Input KN, m,C kM/m2 2 2 1.0000E-20 Mo
Stress Output KN, m, C kN/m2 2 2 1.0000E-20 Mo
Stiffness vI

gasadll e Slas sl daaai (2.2.4.5) 8380
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Bl Cocnimate Sy e . R

Coord System GLOBAL

@ Caresian (71 Cylindrical

Mumber of Grid Lines

X Direction 2
' Direction 2
Grid Spacing
¥ Direction 4 m
¥ Direction 4 m
| Gid Labels.. | | EditGhd.. |

(AU syl ) Fadiiusal) A0l Slal Jpaw (3.2.4.5) 8380
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Materials

A416MGr136

C38-G30.13Gr 00

Add New Material...

Add New Materal Quick...

Add Copy of Material...

Modify. Show Materal...

Delete Material

daadiiall Balal) Cay g2d (4.2.4.5) 33U
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General Data
Material Name CSAC30
Material Type [Cuncrete T]
Material Display Color - [ Change... ]
Material Notes [ ModifyShow Motes... ]

Materal Weight
Weight per Unit Valume 2.3563E+01

|sotropic Property Data
Modulus of Elasticity, E 2666731234 keM/m2

Poisson’s Ratio, U 0.2
Coefficient of Themnal Bxpansion, A 5.5E-06 1/C
Shear Modulus, G 11111380.14 kM /m2

Cther Properties for Concrete Materials
Concrete Cube Compressive Strength, fou
[] Lightweight Concrete

"3.- ar Strength R

a2t Balel) ailad Jaaad (5.2.4.5) 34U
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General Data
Property Name

Slab Material

Dizplay Color

Property Motes

Analysis Property Data
Type
Thickness

Thick Plate

SLABT

|csac0 -)(d
[ [T

[ Modify/Show... |

|Siab

0.2

[ Orthotropic

L3 by & 5 (6.2.4.5) 33U
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General Data
Load Combination Name COMEBA
Combination Type [Line:—r Add - ]
Notes | Modfy/Show Notes... |
Auto Combination | Ma

Define Combination of Load Case/Combo Results

Load Mame Scale Factor
DEAD v |14
e - C—
* v
Design Selection
Strength (Uttimate) [ Service - Normal
[ Service - Initial Service - Long Tem

Combinations ¢ 5 JLial (7.2.4.5) 33U
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8] Quick Draw Stabs/Areas I oS

Type of Object Slab
Property SLABT

l Draw Ohject Using Grids I

Al e ak3ll) s ) (8.2.4.5) 33l

Restraints in Global Directions

[] Translation X [T] Rotation about X

[T] Translation ¥ [7] Rotation about
[ Translation Z [] Rotation about Z

Fast Restraints
g Naryn
| ok | | Cancel |

AL 8 cwiill g 5 LA (9.2.4.5) sadl
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Ll N
g soece oo NN | --miw

Load Pattem Mame Options
Name | DEAD ][] ©) Addto Bxisting Loads
@ Replace Bxsting Loads
Load Direction
(") Delete Existing Loads
Direction [Gla\'ﬂ!.r v]
Unifarm Loads
IUniform Load 15 kM/m2

Monuniform Loads

wit.y) = fc+By+C = Load at Pt éc. v); % yin Global

A 0E+00 kN/m3
B 0E+00 kN/m3
c : o

A3l Cuall Jeall 1085 (10.2.4.5) 3384
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L — B
Bovwcs ST

Load Pattem Mame Options
Name |Live -] ) ) Addto Bdsting Loads
@ Replace Existing Loads
Load Direction B
(1 Delete Existing Loads
Diirection [GE\'HF v]
Iniform Loads
Unifarm Load 1.25 kMN/m2

Monuniform Loads

wie.y) = Ac+ By +C = Load at Pt 6. v); x vin Global

A 0E+00 kN/m3
B 0E+00 kN/m3
: : oz

AL ol Jeall 41323 (11.2.4.5) 334
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Select Type

Load Combination Type [S'I:rength {Ulamate) ']

Select Load Combination

List of Load Combinations Design Load Combinations
COMEBE1 UDCOMUA

UDCOMI UDCONLZ

UCCOMNA Add =

UCCOMNZ

1}
n
i
i

Combinations (345 areaill Jaall Ll (12.2.4.5) 838l

Run | Display Detailing Tools  Optic

Run Analysis
' Run Analysis & Design F5
Bt Run Detailing... Shift+F5

Autornatic Slab Mesh Options...
Cracking Analysis Options..,
Advanced Modeling Opticns...

Advanced SapFire Options...

Show Last Run Details...
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